-~ ~ FC ]
C ht FCI. ~——
‘\~// opyrlg \\w// J) \\N_// \\w//
1 | 2 FClconnect.com 3 4
PRODUCT NUMBER
20020000—XXXXXXXLF
PITCH POLES LF : DENOTED RoHS COMPATIBLE
C: 3.50 mm 02: 2 poles
D: 3.81 mm 03: 3 poles 1 : STANDARD PRODUCT
0‘|‘~ 4 poles W/ BOX PACKING
PROPERTY TABLE | SCREW CODE
FCI SERIES NAME [ 01-350 01-381 |
PITCH (mm)|  3.50 3.81 24: 24 poles CODE |  SCREW TYPE AVAILABILTY
VOLTAGE RATING (VAC)[ 300 300 A |-+ @ ON REQUEST ONLY
cULus 10 10
CURRENT RATNG (4) [™VoE | 105 105 B | - | © | smwow A
A 1-WIRE | 16~26 16~26
— APPLICABLE WRE RANGE (AWG) —wre T 20 ) ALL FLANGE SCREWS ARE ONLY AVAILABLE IN +/— I
COMBINATION SCREW TYPES.
1-WRE[ 1.5 1.5
WRE cRoss secTion | SO0 [5ZwrE[ 0.5 0.5
(mml) STRANDED 1-WIRE 1.5 1.5 HOUSING CODE NOTES:
z—vn’r;zE 0.75 0.75 CODE | COLOR AVAILABILTY 1. MATERIALS
OPENING CONTACT HOUSING(mm?) | 1.6x2.5 1.6x2.5 1—1 HOUSING: THERMALPLASTIC RESIN, UL 94V—0 RATED.
WRE STRP LENGTH{mm)| 67 e 1 | GREEN(RAL 6018/T)| ~ STANDARD 1—2 SCREW: STEEL, ZINC PLATED.
- 2 BLACK ON REQUEST ONLY 1—3 CLAMP: COPPER ALLOY, NICKEL PLATED.
TORQUE +/-10% (N-m/Lb=in)| 0.34/3.0 | 0.34/3.0 1—4 TERMINAL: COPPER ALLOY, TIN PLATED.
SCREW| M2x0.4 M2x0.4 3 | GREY(RAL 7004/P) | ON REQUEST ONLY | 2. PRODUCT SPECIFICATION REFER TO FCI GS—12—625.
UL 16 16 3. PRODUCT PACKING SPECIFICATION REFER TO FCI GS—14—1394.
WITHSTANDING VOLTAGE (kV) I CVDES 25 25 4 | BLUERAL S015/A) | ONREQUESTONLY | %' ), SAFETY GERTIFICATE LOGO AND SERIES NAME TO BE SHOWN ON
- - PRODUCT SURFACE.
OPERATING TEMP. (C)| ~40~+115 _ [-40~+115 5. THE PRODUCTS WHERE THE PART NUMBER END IN "LF” MEET THE EUROPEAN
POLES AVAILABLE UNION DIRECTIVE AND OTHER COUNTRY REGULATIONS AS DESCRIBED IN
GS—22-008.
mat’l. code surface tolerance [projection |product family
SAFETY CERTIFICATE ASME Y14.5\/ ASME Y145 TERMINAL BLOCK
Itr [ecn no[dr [date [tolerances unless otherwise spedifle title
A [T10-0062| WL | 50710 N X.0.5 MM TERMINAL BLOCK
B |T10-0081|WL | 061710 | = ]| _ XX*0.3 TINCH] PLUGGABLE, PLUG, SIGNAL, W/FLANGE
C |T10-0127[WL [ ososto [ X*E1°[7|  X.XX+0.1 scale CONTACT UP SIDE
D [T110-0155| WL | 093010 [dr [WENDY CHEN [ 042310 dwg no sheet 1 of 3 [size|
E [T11—0013| WL | 040811 |en_gr JASON HSU_| 042310 FC' 20020000 A
[ohr [cARY HsiEn | 042310 \4 4
loppd| JOSEPH HSIA | 042310 type CUSTOMER Drawing B
B sheet [revision| E [E | E 1 L T T T T T T 1
index [sheet [1[2[3] 1| [ 1 N I I I I
| form: A¢mmXLe 1] 2 I PDM: Rev:E 3 | statusReleased  Pprinted: Apr 21, 20114 I

Downloaded from Elcodis.com electronic components distributor



http://elcodis.com/

| form: A4mmXLc

Downloaded from Elcodis.com electronic components distributor

| (/‘\‘ Copyright FC. \/‘\‘ Fg/l \//‘\‘ \//-\‘
\~// ~_. \\_// \,,//
1] 2 FClconnect.com 3 4
PRODUCT NUMBER SERIES NAME PITCH
20020000—-CXXXXXXLF 01-350 3.50 mm
|ﬂ'| Dim.L = N x 3.5[.138
Dim.B = (N=1) x 3.5[.138]
N= number of poles
Poles DIM.L [ DIM.B
_ 2p—6p | +0.15[.006]
| 1 =2 7p—12p | +0.20[.008]
' = s s 13p—18p | +0.25[.010]
A~ N L — P P
m@ {72 19p—24p| +0.30[.012]
N9
e O v
52
Dim.L [.205]
CLAMP
A 1.75[.069] TERMINAL
— SCREW HOUSING
| 5
B —Hak g
/ [ﬂ \ - 3.4[.134]
FLANGE SCREW M2.5 ! 0® PIAAAAAA | 6.8[.268]
~N O
4.30 |3.50 1.6 [l
[5.907][.138) [.063] 15.8[.622]
mat’l. code i;::aﬁij \/tg‘ezr?:se projection |product family TERMINAL BLOCK
Itr [ecn no|dr [date [tolerances unless otherwise spedifie title
E - ]ol X.£0.5 MM TERMINAL BLOCK
“"9"2 XX£0.3 TINCH] PLUGGABLE, PLUG, SIGNAL, W/FLANGE
XET| | XXX£0.1 scale CONTACT UP SIDE
|dr_ WENDY CHEN | 042310 dwg no shest 2 of 3 [size
engr[ JASON HSU_| 042310
o e Torssio FS//)' 20020000 Aa
loppd| JOSEPH HSIA | 042310 type CUSTOMER Drawing
B sheet [revision| | 11 T L T T T T T T 1
index _[sheet [ [ [ 1 [ T T T T T 1
1] 2 I PDM: Rev:E 3 | statusReleased  Printed: Apr 21, 20114


http://elcodis.com/

| form: A4mmXLc

Downloaded from Elcodis.com electronic components distributor

| O coprin ra S Fg/l @ S
\~// \w// \N_// \w//
1] 2 FClconnect.com 3 4
PRODUCT NUMBER SERIES NAME PITCH
20020000—-DXXXXXXLF 01-381 3.81 mm
Dim.B
Dim.L = N x 3.81[.150
Dim.B = (N=1) x 3.81[.150]
N= number of poles
d %<9 Poles | DIM.L [ DIM.B
| | | 9% 2p—6p | +0.15[.006]
7p—12p | +0.20[.008]
69 13p—16p | +0.25[.010]
i O R 17p—24p| +0.30[.012]
i
5.2
Dim.L [.205]
SCREW
1.91[.075
A [ ] cLawp  TERMINAL
HOUSING
][
\ —|
& :
)
~
- 3.4[.134]
FLANGE SCREW M2.5 2 N X 6.8[.268]
4.50 | 3.81 1.7 A
[.17711[.150] [.067] 15.8[.622]
tl. cod f Tol jecti duct famil
ma code i;:EGYC‘jj\/ Aos‘ezr(::Tfse projection |prodauc amily TERMINAL BLOCK
Itr [ecn no|dr [date [tolerances unless otherwise spedifie title
E - ]ol X.£0.5 MM TERMINAL BLOCK
e 2 XX£0.3 TINCH] PLUGGABLE, PLUG, SIGNAL, W/FLANGE
XET| | XXX£0.1 scale CONTACT UP SIDE
|dr_ WENDY CHEN | 042310 dwg no sheet 3 of 3[size|
engr[ JASON HSU | 042310
[chr [GARY RisiE | 042310 FS//)' 20020000 Asl
loppd| JOSEPH HSIA | 042310 type CUSTOMER Drawing
B sheet [revision| | T | I I I I |
index _[sheet [ [ [ 1 [ [ T T T 11
1] 2 I PDM: Rev:E 3 | statusReleased  Printed: Apr 21, 20114


http://elcodis.com/

